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ÍÛæ̃ Û¶ÛÛ : (1) ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé ºõÁõœ÷ýÛÛ©Û ™öé. 
  (2) ›÷¾Û¨Ûà ¼ÛÛ›ä÷ þùÉÛÛÙÈÛéÅÛ …×ïõ ¸ÛóÊ¶Û¶ÛÛ •Ûä¨Û ™öé. 
 

1. (…) µÛ×µÛÛïõàýÛ ÈýÛÛ”ýÛÛ …é¤øÅÛé ÉÛä× ? µÛ×µÛÛ¶Ûà ÈýÛÛ”ýÛÛ ïéõÈÛà Áõà©Ûé ¬ÛÈÛà ›Ûéˆ…é ? 7 

…¬ÛÈÛÛ 

  Š°éùÉÛÛé ÈýÛæÐüÛ©¾Ûïõ ÍÛ×˜ÛÛÅÛ¶Û¾ÛÛ× ïéõÈÛà Áõà©Ûé …•Û©ýÛ¶ÛÛé ½ÛÛ•Û ½Û›÷ÈÛé ™öé. 

 (¼Û) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé) 4 

  (1) •Û×½ÛàÁõ ÍÛÛ¶ÛäïäõÇ (ÍÛºõÇ) ¸ÛÜÁõ¼ÛÇÛé …é¤øÅÛé ÉÛä× ? 

  (2) ´ùÜÌ¤ø …¶Ûé Ü¾ÛÉÛ¶Û ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ›÷¨ÛÛÈÛÛé. 

  (3) ïõÛé¸ÛÛëÁéõ¤ø Í©ÛÁõ¶Ûà ÈýÛæÐüÁõ˜Û¶ÛÛ…Ûé …¶Ûé µÛ×µÛÛïõàýÛ Í©ÛÁõ¶Ûà ÈýÛæÐüÁõ˜Û¶ÛÛ…Ûé ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û 

›÷¨ÛÛÈÛÛé. 

 (ïõ) …éïõ …¬ÛÈÛÛ ¼Ûé ÅÛà¤øà¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 3 

  (1) ÈýÛæÐüÛ©¾Ûïõ µÛ×µÛÛïõàýÛ …éïõ¾Û …é¤øÅÛé ÉÛä× ? 

  (2) ¼ÛéÅÛé¶Í¦ø ÍïõÛéÁõ ïõÛ¦Ùø …é¤øÅÛé ÉÛä× ? 

  (3) ÈýÛæÐüÁõ˜Û¶ÛÛ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 

 

2. (…) ¸ÛýÛÛÙÈÛÁõ¨Û …é¤øÅÛé ÉÛä× ? ¸ÛýÛÛÙÈÛÁõ¨Û¶ÛÛ× ÅÛ“Û¨ÛÛé …¶Ûé ¸ÛóïõÛÁõÛé¶Ûä× ÈÛ¨ÛÙ¶Û ïõÁõÛé. 7 

…¬ÛÈÛÛ 

  ÈýÛÈÛÍ¬ÛÛ©Û×ªÛàýÛ ¾ÛæÅýÛÛ×ïõ¶Û ïõÁõÈÛÛ¶Ûà ïõÛéˆ¸Û¨Û ¼Ûé ¸Û±ùÜ©Û…Ûé ÜÈÛ•Û©ÛÈÛÛÁõ ÍÛ¾Û›ÛÈÛÛé. 
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 (¼Û) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé) 4 

  (1) ïõÛé¸ÛÛëÁéõ¤ø Í©ÛÁõ ÈýÛæÐüÁõ˜Û¶ÛÛ…Ûé¶Ûé ÅÛ•Û©ÛÛ× Ü¶Û¨ÛÙýÛÛé ›÷¨ÛÛÈÛÛé. 

  (2) ÜÍ¬ÛÁõ ÈýÛæÐüÁõ˜Û¶ÛÛ…Ûé …¶ÛäÍÛÁõÈÛÛ¶ÛÛ× ïõÛÁõ¨ÛÛé ›÷¨ÛÛÈÛÛé. 

  (3) ÜþùÉÛÛ ¼ÛþùÅÛ©Ûà ÈýÛæÐüÁõ˜Û¶ÛÛ (¤ø¶ÛÙ …éÁõÛŠ¶¦ø) …é¤øÅÛé ÉÛä× ? 

 (ïõ) …éïõ …¬ÛÈÛÛ ¼Ûé ÈÛÛîýÛÛé¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 

  (1) ÍÛÛíé¬Ûà ÈÛµÛä …¶ÛÛïõÌÛâ©Û ÈýÛæÐüÁõ˜Û¶ÛÛ¶Ûä× ¶ÛÛ¾Û ›÷¨ÛÛÈÛÛé. 3 

  (2) µÛ×µÛÛïõàýÛ ÈýÛæÐüÁõ˜Û¶ÛÛ…Ûé¶Ûä× ÈÛ•ÛâïõÁõ¨Û ïéõÈÛà Áõà©Ûé ¬ÛÛýÛ ? 

  (3) Í¸ÛµÛÛÙ©¾Ûïõ ÅÛÛ½Û …é¤øÅÛé ÉÛä× ? 

 

3. (…) ïõÛéˆ¸Û¨Û …éïõ ïõÛé¸ÛÛëÁéõ¤ø Í©ÛÁõ¶Ûà ÈýÛæÐüÁõ˜Û¶ÛÛ ÜÈÛÉÅÛéÌÛ¨Û ¸Û±ùÜ©Û ÍÛ¾Û›ÛÈÛÛé. 7 

…¬ÛÈÛÛ 

  …éïõ ¼ÛêÝïõ•Û …éïõ¾Û¶Ûä× ÍÈÛÛé¤ø (SWOT) ÜÈÛÊÅÛéÌÛ¨Û ïõÁõÛé. 

 (¼Û) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé. (•Û¾Ûé ©Ûé ¼Ûé) 4 

  (1) ÈýÛæÐüÛ©¾Ûïõ ¸ÛÍÛ×þù•Ûà …é¤øÅÛé ÉÛä× ? 

  (2) …¶Ûä½ÛÈÛ Áéõ”ÛÛ …é¤øÅÛé ÉÛä× ? 

  (3) •ÛóÛÐüïõ (”ÛÁõàþù¶ÛÛÁõ)¶Ûà ÍÛÛéþùÛé ïõÁõÈÛÛ¶Ûà ÍÛ«ÛÛ ïõýÛÛ ÍÛ×›Ûé•ÛÛé¾ÛÛ× ÿ˜Ûà ÐüÛéýÛ ™öé ? 

 (ïõ) …éïõ-¼Ûé ÅÛà¤øà¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé. 3 

  (1) ïéõ¤øÅÛÛ Í©ÛÁõÛé ¸ÛÁõ ÈýÛæÐüÛ©¾Ûïõ ÜÈÛÊÅÛéÌÛ¨Û ïõÁõà ÉÛïõÛýÛ ? 

  (2) ETOP …é¤øÅÛé ÉÛä× ? 

  (3) SAP …é¤øÅÛé ÉÛä× ? 

 

4. (…) ÍÛ¾Û›ÛÈÛÛé. (ïõÛéˆ …éïõ) 7 

  (1) ÈýÛæÐüÁõ˜Û¶ÛÛ …¾ÛÅÛàïõÁõ¨Û¶ÛÛé ¾ÛÛé¦éøÅÛ 

  (2) ÈýÛæÐüÛ©¾Ûïõ ¾ÛæÅýÛÛ×ïõ¶Û …¶Ûé …×ïäõÉÛ¶Ûà ¸ÛóïèõÜ©Û …¶Ûé ¾ÛÐü«ÈÛ 
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 (¼Û) ©ÛºõÛÈÛ©Û ›÷¨ÛÛÈÛÛé : (•Û¾Ûé ©Ûé ¼Ûé) 4 

  (1) ÈýÛæÐüÛ©¾Ûïõ …×ïäõÉÛ …¶Ûé ïõÛýÛÛÙ©¾Ûïõ …×ïäõÉÛ 

  (2) ïõÛýÛÛÙ¶ÛäÍÛÛÁõ ýÛÛé›÷¶ÛÛ…Ûé …¶Ûé ïõÛýÛÛÙ¶ÛäÍÛÛÁõ ¶ÛàÜ©Û…Ûé 

  (3) ŠµÈÛÙ ÈýÛÈÛÍ¬ÛÛ©Û×ªÛ …¶Ûé ÍÛ¾ÛÛ×©ÛÁõ ÈýÛÈÛÍ¬ÛÛ©Û×ªÛ 

 (ïõ) …éïõ-¼Ûé ÅÛà¤øà¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 3 

  (1) ÈýÛÈÛÍ¬ÛÛ©Û×ªÛ …¶Ûé ÈýÛæÐüÁõ˜Û¶ÛÛ ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ ›÷¨ÛÛÈÛÛé. 

  (2) ÜÈÛ½ÛÛ•ÛàýÛ ÈýÛÈÛÍ¬ÛÛ ©Û×ªÛ¶Ûä× …éïõ ŠþùÛÐüÁõ¨Û …Û¸ÛÛé. 

  (3) ¾ÛéÜ¤ÖøîÍÛ ÈýÛÈÛÍ¬ÛÛ©Û×ªÛ¶Ûä× …éïõ ŠþùÛÐüÁõ¨Û …Û¸ÛÛé. 

 

5. ÍÛÛ˜ÛÛ ›÷ÈÛÛ¼Û¶Ûà ¸ÛÍÛ×þù•Ûà ïõÁõÛé. 14 

 (1) ______ ›÷é …éïõ¾Û ½ÛÜÈÛÌýÛ¾ÛÛ× ÍÛ×¸Ûæ¨ÛÙ©Û: …¶Ûé ÍÛºõÇ©ÛÛ¸ÛæÈÛÙïõ ¸ÛæÁä×õ ïõÁõÈÛÛ¶Ûà …ÛÉÛÛ ÁõÛ”Ûé ™öé. 

  (a) Š°éùÉÛÛé (b) µýÛéýÛÛé 

  (c) ÈýÛæÐüÁõ˜Û¶ÛÛ (d) ¼ÛµÛÛ ÜÈÛïõÅ¸ÛÛé 

 (2) ______ …éïõ¾Û¶ÛÛ× …ÜÍ©Û©ÈÛ¶Ûä× Ðéü©Ûä ™öé. 

  (a) Ü¾ÛÉÛ¶Û (b) ´ùÜÌ¤ø 

  (c) Š°éùÉÛÛé (d) µýÛéýÛÛé 

 (3) ______ …éïõ¾Û¶Ûà ïõÛ¼ÛéÜÅÛýÛÛ©Û¶Ûä× ¸ÛÜÁõ¨ÛÛ¾Û ™öé. 

  (a) Í¸ÛµÛÛÙ©¾Ûïõ ºõÛýÛþùÛé (b) ÈýÛæÐüÛ©¾Ûïõ ºõÛýÛþùÛé 

  (c) ÅÛÛ“ÛÜ¨Ûïõ Ü¶Û¸Ûä¨Û©ÛÛ (d) ¼ÛµÛÛ ÜÈÛïõÅ¸ÛÛé 

 (4) ______ …éïõ¾Û ³ùÛÁõÛ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛ©ÛÛ× …Û×©ÛÁõ-ÍÛ×¼Û×ÜµÛ©Û ¾ÛæÅýÛ-Š©¸ÛÜ«Û ïõÛýÛÛë¶Ûä× ÍÛé¤ø ™öé. 

  (a) ¾ÛæÅýÛ-ÍÛÛ×ïõÇ ÜÈÛÊÅÛéÌÛ¨Û (b) VRIO »éõ¾ÛÈÛïÙõ 

  (c) ¼ÛéÅÛé¶Í¦ø ÍïõÛéÁõïõÛ¦Ùø (d) …Û¾ÛÛ×¬Ûà ïõÛéˆ ¶ÛÐüá 
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 (5) ______ µÛ×µÛÛïõàýÛ ÈýÛÛ”ýÛÛ¾ÛÛ× ÍÛ×•Ûà¶Û ºéõÁõºõÛÁõÛé¶Ûä× ÍÛ¾ÛÛÈÛéÉÛ ïõÁéõ ™öé. 

  (a) …éïõàïõÁõ¨Û (b) ïéõ¶®ùàïõÁõ¨Û 

  (c) ÜÈÛÍ©ÛÁõ¨Û (d) ÈÛíéÜÈÛµýÛïõÁõ¨Û 

 (6) Š²Ûé•Û ¾ÛÛÇ”Ûä× ______ Í¸ÛµÛÛÙ©¾Ûïõ ¼ÛÇÛé¬Ûà Ü¶ÛÜÊ˜Û©Û ¬ÛÛýÛ ™öé. 

  (a) ˜ÛÛÁõ (b) ªÛ¨Û 

  (c) ¸ÛÛ×˜Û (d) ™ö 

 (7) šýÛÛÁéõ …éïõ›÷ Í©ÛÁõ ¸ÛÁõ ›ä÷þùÛ× ïõÛýÛÛë …×©Û•ÛÙ©Û ÍÛä¾ÛéÇ …¶Ûé ÍÛ¾Û¶ÈÛýÛ ¬ÛÛýÛ, ©Ûé¶Ûé ______ ïõÐéüÈÛÛýÛ 

™öé. 

  (a) ŠµÈÛÙ …¶ÛäïæõÇ©ÛÛ (b) ÍÛ¾ÛÛ×©ÛÁõ …¶ÛäïæõÇ©ÛÛ 

  (c) ÈýÛæÐüÛ©¾Ûïõ …¶ÛäïæõÇ©ÛÛ (d) ïõÛýÛÙïõÛÁõà …¶ÛäïæõÇ©ÛÛ 

________ 
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Instructions :  (1) All questions are compulsory. 

   (2) Figures to the right indicate marks allotted to each question. 

 

1. (a) What is business definition ? How should be defined a business ? 7 

OR 

  How do objectives play an important role in strategic management ? 

 (b) Answer in brief (any two) : 4 

  (i) What are critical success factors ? 

  (ii) Distinguish between vision and mission. 

  (iii) Distinguish between corporate level strategy and business level strategy. 

 (c) Answer in one or two sentences : 3 

  (i) What is a Strategic Business Unit (SBU) ? 

  (ii) What is a Balanced Score Card ? 

  (iii) Define strategy. 

 

2. (a) What is environment ? Describe the characteristics and types of environment. 7 

OR 

  Explain any two techniques used for organizational appraisal. 
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 (b) Answer in brief (any two) : 4 

  (i) State the decisions related to corporate level strategies. 

  (ii) State the major reasons for adopting stability strategy. 

  (iii) What are turnaround strategies ? 

 (c) Answer in one or two sentences : 3 

  (i) Name the retrenchment strategy which is considered as most unattractive. 

  (ii) How are business strategies classified ? 

  (iii) What is Competitive Advantage ? 

 

3. (a) Explain one corporate level strategic analysis technique. 7 

OR 

  Undertake a SWOT analysis for a banking firm. 

 (b) Answer briefly (any two) : 4 

  (i) What is strategy choice ? 

  (ii) What is experience curve ? 

  (iii) When is bargaining power of buyers high ? 

 (c) Answer in one or two sentences : 3 

  (i) At how many levels strategic analysis can be done ? 

  (ii) What is ETOP ? 

  (iii) What is SAP ? 

 

4. (a) Explain (any one) :  7 

  (i) Model of strategy implementation 

  (ii) Nature and importance of strategic evaluation and control. 
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 (b) Distinguish between (any two) : 4 

  (i) Strategic Control and Operational Control. 

  (ii) Functional Plans and Functional Policies. 

  (iii) Vertical Structure and Horizontal Structure.  

 (c) Answer in one or two sentences only : 3 

  (i) State the relationship between structure and strategy. 

  (ii) Give an example of Divisional Structure. 

  (iii) Give an example of Matrix Structure. 

 

5. Choose the correct answer :  14 

 (1) _______ are what an organisation hopes to accomplish in a future period of time. 

  (a) Objectives (b) Goals 

  (c) Strategies (d) All the alternatives 

 (2) _______ is the purpose of organisation’s existence. 

  (a) Mission (b) Vision 

  (c) Objectives (d) Goals 

 (3) _______ are the outcomes of organizational capabilities. 

  (a) Competitive Advantages (b) Strategic Advantages 

  (c) Core Competencies (d) All the alternatives 

 (4) _______ is a set of inter-linked value-creating activities performed by an 
organisation. 

  (a) Value Chain Analysis (b) VRIO Framework 

  (c) Balanced Score card (d) None of the alternatives 



XY-135 8  

 (5) _______ involves a substantial change in business definition. 

  (a) Integration (b) Concentration 

  (c) Expansion (d) Diversification 

 (6) Industry structure is determined by _______ competitive forces. 

  (a) four (b) three 

  (c) five (d) six 

 (7) When there is congruence and coordination among different activities taking place 
at the same level, it is _______. 

  (a) vertical fit (b) horizontal fit 

  (c) strategic fit (d) operational fit 

________ 
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